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HonesLis thebest policy.”

Aesop (~ 620B.C, -?)

“An honest mind possesses a kingdom.”
Lucius Annaeus Seneca (4B.C.~65A.D.)

“Honest people are the true winners of the universe.”
Anonymous




Two problems take-home: Do either Problem # 1 or # 2. Also, do either # 3 or # 4. The problems
you choose not to do in class are take-home due to the beginning of the next class. Best of luck!

(1)(25 points). Laplace transform in electric circuits, Using Laplace
domain equivalent circuit, find the complete simplified
mathematical expression for the voltage vy(?) for > 0.
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(2)(Lotal; 25 points) Laplace transform in electric circuits. For the
electric circuit shown:
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(a)(10 points) Draw the complete unilateral Laplace domain
equivalent circuit with all the pertinent values included.,
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(b)(15 points) Using the circuit drawn in part (a), find the complete
simplified mathematical expression for the current i(f) for ¢ =2 0.
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(3)(Total: 25 points) Fourier transforms. Use the tables of Fourier
transforms and properties to find the Fourier transform of the

following functions: o)
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Please show your work step by step.




(4)(Total: 25 points) Inverse Fourier transforms. Using tables and
properties, find the inverse Fourier transform of
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Please provide vour work step by step.




